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M.A. (Fourth Semester)
EXAMINATION, May - June, 2022
POLITICAL SCIENCE
Paper Fifth

(3RIsir IraTifcT & BTN T8)

Time : Three Hours] [Maximum Marks:80]

e : FrdergaR w3t @vsl & IR ARE
Note : Attempt all the sections as directed.
gos - A
(Section - A)
TS /aERmed TR
(Objective/Multiple Choice Questions)
(1 mark each)

Ae : g v & TR AR G IR &1 T Bifsel

Note : Attempt all questions. Choose the correct answers.

P.T.O.

(2]

. B 1 d YHSAIGROT BT &l &

(A) TR 3IRITH

(B) TATHI® B THE

(C) % P YHTE

(D) it I e

Which elements is not a part of globalization?
(A) Trade barriers

(B) Flow of technology

(C) Flow oflabour

(D) Flow of capital
oNd-gg B YA Fave feam fasar or?

(A) IS H

(B) §7s W §&d

Who first used the term 'Cold-War'?
(A) George Cannon

(B) Bernade M Baruch

(C) Fleming

(D) Dr. Kissinger



(3] [4]

3. SFRRIGIT I # [eFRuawT & 3/f & 5. YHSCNaRUI & JHAM &
(A) 3TERTEATE (A) g I & &l B @ aRAT
(B) g (B) TEXEE FufEr T I W iR I & @
Jufaeir foomor & e wifed & <@ &
(€) smiads (C) AT W& &
(D) ¥NT-J& I GUFHRT (D) 2 T #
Non-alignment means in 'International Politics'": Disadvantages of globalization:
(A) Separation (A) Protecting the interests of the poor nation's
(B) isolationism (B) Multinational companies are proving to be the in-

struments ofthe neo colonial centrol of the rich

(C) Non-commitment nation's over the poor nation's.

(D) Separation for the cold war (C) Both areright
4. 75 {353 rawn & uRded | Tl R 3nenka ZrawRn (D) Both are wrong
@1 35T’ e oaT 87 6. AT 3MUBRI B & & v SaeT NI TN B
A T S st fasam mar el
. (A) 1944
(B) g faiema
. (B) 1945
(C) ug.uy. gfvdes
(C) 1943
(D) et (D) 1948
In the perspective of the new world order who said that When was the Dumparton Oaks conference held to pro-
"A civilization based world order is emerging". tect human rights.
(A) George Canon (A) 1944
(B) Hu.Jintao (B) 1945
(C) S.P.Huntington (C) 1943
(D) Greaves (D) 1948
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5]

7. B A SR JeRuedr & Faftd Tal &

(A) T TR

(B) AT (feer w4 wR Twe

(C) #Her4r

(D) PR IweH

Which organization does not belong to Non-Alignment:
(A) Co-ordination Bureau
(B

(C

) Ministerial (Foreign Minister) level conference
) General Assembly

(D) Summit conference

. T ®aT o1 % “3iid g o1 329 geRHl P 3Tbetl AT
3R Rl P P 21

(A) FTT I
(B) @t fpRimR
(C) e &
(D) wifd

Who said that "The objective of a cold war is to isolate
enemies and win friends."

(A) George Cannon
(B) Dr. Kissinger
(C) Louis Halle

(

D) Fleming
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[6]
B A1 IR fGAa Aa-gg & e ITRary 8?
(A) 9 R T
(B) ¥Rd Ul g 1971
(C) 3R 3FaRer gg TRATSHT
(D) fasg §&
Which factor is responsible for the second cold war?
(A) World Trade Organization
(B) Indo-Pak war 1971
(C) American star war's project
(D) World bank
e FRUe Rrer awiem o9 o 9§ a1 aR smafora fasan
T /?

(A) agaT

(D) cféror 3mhieT

In which country the non-aligned summit has been held
twice?

(A) Cuba

(B) India

(C) Zimbabwe
(

D) South Africa
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[7]
MG BRI B AGHIHG BT HT F=taT foem IR
T ar?
(A) WHERTHT
(B) AMa SIBR 3TN
(C) AMa IBR aRuE
(D) AMa 3BR F=
Who drafted the universal declaration of Human Right?
(A) General Assembly
(B) Human Right Commission
(C) Human Right Council
(D) Human Right Center

af%ge argaH ¥ gig T e, foarer 1997 et amafeTd
fosar mar ar?

(A) =

When was the 'Global Warming Conference, December
1997 held?

A) Rio
Kyoto

)
C) New York
) Nairobi
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(8]

13. Aetgal Te R Rex awiem &t smaifsa gan e

(A) Tgar
(B) fersr

Where was the sixteenth non-aligned summit held?
A) Cuba

B) Egypt

C) lIran

(
(
(
(D) Jambia

14. IYH I, WY A AHG AIBR ISR BT TSH B b

(A) 25 3T 1993
(B) 16 3 2006
(C) 20 fewa= 1993
(D) 10 fewax 1948

When did the United Nation Organization constitute Hu-
man Right High Commissioner?

A) 25% June 1993

(

(B) 16" June 2006

(C) 20* December 1993
(D) 10t December 1948
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15. 25 3} 1993 @ W BHRT W fasg T=e el gan 17. SN G BT TP FE0T &

o?
A) I&

A) SHAT (FACIREIUS) .

EB)) - (aTrﬁ;;;m) (B) WerIRBdl & Hed G
C) A

(C) 3T (FWIeaReivs) ©) 3

(D) 9N (%79) ©) 3=

Where was the world conference on human rights held A sympton of the cold war

on 25" June 19937 (A) War
A) Geneva (Switzerland) (B) Tension between the super powers

B) Vienna (Austriya)

(C) Nuclearwar
(D) Gorilla war

18. '3fTe™ & WU ¥ O gF & AEd &
(A) Ut

(

(B)

(C) Aug (Switzerland)
(D) Prague (France)

16. Aa 31fEBR feaq A= siar &

(A) 10 TR

(B) 24 RN (B) &R T8 =T

(D) 25 feaeR (C) s &

(D) 22 FE (D) wRATHT

Human right day is celebrated: Who is the author of "Cold War as History"
(A) 10* December (A) Grieves

th
B) 24% October (B)

M.S. Rajan

(B)
(C) 25" December (C) Louise Halle
(D)

D) 22 January

(D) Fleming
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19. ¢ FRUETT @1 HicaE & el RS & Qs - §
(A) fear< Section - B
afcrerg IR v
(B) ®rdgs
) (Very Short Answer Type Question)
(C) Y=mIIcl
(2 marks each)
(D) HEER A : a4ty & IR A
Factor that is encourages to non-aligment: Note : Attempt all questions.
(A) Detente TBI-1
(B) Cold war UNIT-1
(C) Panchsheel 1. ¢ RUSTAT & & PHaNRAT folRae|
(D) Human rights Write two weaknesses of 'Non-Alignment'.
2 RIS @ a1 Judterdr Qo
20. Yo Tei-RyeT RIeR FHe &F g3 o
Give two achievements of 'Non Alignment'.
(A) 1960
$BS-2
(B) 1961 UNIT-2
() 1962 3. ¥ gg & gRe Rl
(D) 1963 Write the definition of cold war.
When was the first non-aligned summit held? 4. 73 9583 g o a1 fooman fofaw|
(A) 1960 Write two features of the new world order.
FBIS-3
(B) 1961
UNIT-3
(C) 1962

5. 37dddie @ aRwmT At
(D) 1963
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[13]
Give the definition of terrorism.
AT (UNEP) &1 T 9 foiRae |
Write the full name of 'UNEP'
TPHIS-4
UNIT-4
g JuTARIaE @ 37 T DI

Explain the meaning of Neo Colonialism

8. fommeier It o foaeh R W= a1 = fafae|

Write two problems related to foreign trade of develop-
ing countries.

gusg - 9
Section - C
oY IR T
(Short Answer Type Question)

(3 marks each)

Ae : Iy $ IR AfwE|

Note : Attempt all questions.

IPIS-1

UNIT-1

1. TEMRUETr & 3MURI & quH Hifore|

Describe the bases of non-alignment.

2. TeRUEd @ a9 Ygfial R Tt Sl

Explain the new trends of non-alignment.
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[14]

THIS-2

UNIT-2
R A& T4 TR Ua-g& H 3R W Hifore|
Explain the difference between the old cold war and the
second cold war.

TR Aa-gg » RomE @ kel
Write the results of second cold war.
IPIE-3
UNIT-3
FAIEROT HT TRIT AT R GUHE P fRae|
Write the impact of globalization on poor countries.
IR JTddde 1 URd R 496 @I faRae|
Write the impact of International terrorismin India.
B34
UNIT-4
ITR-S0T HaTE B R W Difore|
Explain the meaning of North-South dialogue.

Zféqur-afaor ggam &1 3rf W Hifsw|

Explain the meaning of South-South co-operation.
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@ s - T FPE-3
Section - D UNIT-3

S 3T v 3. TUfaRUT TRe0T R R33N GRIe= & 3uaiel &I quia
FifsTe|

Describe the achievements of the Rio conference on

(Long Answer Type Questions)

(5 marks each) _ .
environment protection.

dic: | el & IR Qe
Note: Attempt all questions.
IPIB-1
UNIT-1
1. TCiRUETT & FASIRAT R fCwon fofa|
Write a notes on the weaknesses of non-alignment.
31Md1/OR
TCI-RUETT & IUATERT R SARHHS o fRad |

311d1/OR
FAIEROT & JHUTET BN SATIHS AT Hifowe|
Critically explain the effects of globalization.
TPHIS-4
UNIT-4
4. cleror-afaror FEan o s @ fadeEr Sifsel

Discuss the limitations of South-South co-operation.

31d1/OR
Write a critical note on the achievements of non-align-
ent 99 3ufavEE W INArdHHS o fRad |
§ 5 Write a critical article on Neo-colonialism.

UNIT-2
2. NA-gZ B FAMG & RN DI faaa=1 difoe|
Discuss the reasons for the end of the cold war.
31Md1/OR
75 f353 g @ fadwant &1 aulH Hifsw|

Describe the features of the new world order.
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